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L H R EEAE(A) D LARES S D7
(A) 0.330 (B 0.702 (C) 0.320 (D) 0.604

GEH SHREAMNINAHFTRERATHEN  BEABLERE - HHE IR
AEHEREATERAZ L S DT

(A) 18.74 (B) 19.74 (C) 20.74 (D) 21.74
FELFALH2 RS 100 kn/hr» G ESR FHE 2 50 kn/hr -
ARG ERESL (A7 kw/hr (B) 67 km/hr (C) 77 km/hr (D) 85 km/hr
BREBRPFEZFEMMFTELIAE (=170 cm, o=10 cm) - B & HAR
160~180 cm F # 4/ % A(A) 500 (B) 600 (C) 700 (D) 800 A

AL HEEARE 20 A0 BlARA % B8 (Error Variance) % F (A) 2(B)

4 (C) 0.4 (0.2
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BAARD 5 BIFIEEE B 7 (W10 (B)T.5 (O15 (D)5

fBkf A ARXIF I2HFEA > EAEMMET 1500 2RFERT L
12 822 P RAMARE P 235 Ase# &8 PC0.5)=2 (4) <0. 0001
(B) 0.015 (C) 06.4602 (D) 0.50
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2.

MELFE(EHAD 4)
1. Central Limit Theorem

2. Coefficient of Determination

sHA(ER104)

Suppose we assume that body length of a certain species of fish from some
defined arca are normally distributed with mean=20 cm and standard deviation=
5 cm. Find the probability of a fish having a body length > 30 c¢cm or <15 cm.

The mean and standard deviation for 21 samples are 50 and 3, respectively. If
there is an outlier value 60 has to be removed from the samples. Please find the
mean and standard deviation of the remaining 20 samples after removing the

outlier value.

BEAM (B2 0)
ERELZPHBELONT HE—HEERRRBMR LR E LM
E o ARBUBRERRIV LSRR EZ FHBEWRETENRZTF
B E > Bl dbAR E 2 E &4 3% (null hypothesis ; Ho) B da T35 & 7

(A) p =60 (B) 1t = 60 (C) p# 60 (D) 1 < 60

AL RERLEREHZGERRZZ FAR T AN SR FEZ PR
F o EHWMERATEZRELES A M E K2 B R d(critical value) 43t
EAHB AlATREEATEAREER (0=0.05) ?
B
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(A) °

(B)

€ D)
i E B EH ﬁlﬁﬁ% SNz AEREARLBIRTRER EZR THAHE
WEFERHEGHET

{A) Z-test for proportion (B) Analysis of variance

(C) t-test for paired samples (D) % test

ALM FREEREFELERBR  MTHAMLAERZER?
(A) &z pRAS MR ETHER
B) FRFHZ AHENERRAB BRI AFTRZLR
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(C) o2 e ERE MBI AT G F
D) FREH2 NP EREEHMESRBEER

F & 4 B #) & 4420 (coefficient of determination ) Z £ ﬂ‘_ﬁ%ﬂ—_zﬁ ?
(A) -1 821 2 B (B) fr#t-c0fitooz i
(C) #0581 2/ (D) -7 O $Loo f
6. THMTHEE —BEBR (Typellerror) ZEK 7
(A) EHoAEB > &% Ho (B) & Ho 385 > % Hy
(C) sHo BB JELH (D) % Ho Aoy - ER H
7. AW R E AT AN E (a=005) MRk SRR KS
C20R c BIEMHREEREREMEHELTFHEEEER (Wremde - BMae) Z 95%
1238 & (confidence interval ) & (3.2,7.8) B F #|fa4 & L7k 2 Hg 3k 7
(A) #3 Ho * Premale = MMale (B) 44 Ho * Mremale = HMate
(C) #% Ho: PEemale = HMale D) #£48 H() BFemate < HPMale
8. AL FHEEokEpBEEXEAEERE > BoEE ?Pﬁ%m)ﬁ ZBHE
( degree of freedom ) JE &4 ?
(A) 18 (B) 19 (C)38 (D) 39
9. MEIE20MSHEEATEABARRENEALRE SRS AREEZ
WA THFMEREFTEBRAESGHAT
(A) xz test (B) Analysis of variance
(C) t-test for paired samples (D) t-test for independent samples
10. A Lf - xBEVAEB 28 B (degree of freedom ) & &4y ?
(A) 18 (B) 19 (C)38 (D) 39
E - BELE (B85 5)
1. power of test

stratified random sampling



> 3HEHE (5810 5)
1. &5 WEaHAE (TL) #AXE (FL) 2ia M - Bakdedk 8 R &84
EEATHREREZRE - FEF FRATT
TL 56 35 62 28 45 50 50 35
FL 42 34 50 21 26 35 38 32
FHEEMR L E 2RSS o] ? BT LRMMATEA ST
Tz &HK (0=005) ?

2 BAMIE S T A ZEARE BT FHBEATAABEEEL S AL
ZRAHBBBEAHEASE IR EEARE BRI EHTRAR -

Sample size mean Standard deviation
b 28 58 8
P 30 51 12
& 25 48 10

FRARMRELSHEHEIHER (0=005)-



Student’s ! distribution

0.1

1-tail 0.25 0.05  0.025 0.01  0.005 0.0025
2-tail 05 02 0.1 0.05 0.02 0.01 0.005
df: I 1.000 3.078 6314 12706 31.821 63.657 127.321
2 0.816 1.886 2920 4303 6965 9925 14.089

3 0.765 1.638 2353  3.182 4541 5.841 7.453
4 0.741 1.533 2132 2776  3.747 4604 5598
5 0.727 1476 2015 2571 3365 4032 4773
6 0.718 1.440 1943 2447 3143 3707 4317
7 0.711 1.415 1.895 2365 2998 3499  4.029
8 0.706 1.397 1.860 2306  2.8%6  3.355  3.833
9 0.703 1.383 1.833 2262  2.821 3250 3.690
10 0.700 1.372 1.812 2228 2764 3.169  3.581
I 0.697 1.363 1.796 2201 2718  3.106  3.497
12 0.695 1.356 1.782  2.179 2681  3.055 3428
13 0.694 1.350 1771 2,160  2.650 3.012 3372
14 0.692 1.345 1.761 2,145 2.624 2977 3326
15 0.691 1.341 1753 2.131 2602 2947  3.286
16 0.690 1.337 1746 2120 2583 2921  3.252
17 0.689 1.333 1740 2110 2567  2.898  3.222
18 0.688 1.330 1.734 2101 2552 2878  3.197
19 0.688 1.328 1729 2.093  2.539  2.86! 3.174
20 0.687 1.325 1.725 2.086 2528  2.845  3.153




F distribution

Denominator  Probability Numerator df

df in upper tail 1 2 3 4 5
1 0.05 16145  199.50 21571 22458  230.16
0.025 64779  799.50  864.16  899.58  921.85

2 0.05 18.51 19.00  19.16 19.25 1930
0.025 38.51 39.00 39.17 39.25 39.30

3 0.05 10.13 9.55 9.28 9.12 9.01
0.025 17.44 16.04 15.44 15.10 14.88

4 0.05 7.71 6.94 6.59 6.39 6.26
0.025 12.22 10.65 9.98 9.60 9.36

5 0.05 6.61 5.79 5.41 5.19 5.05
0.025 10.01 8.43 7.76 7.39 7.15

6 0.05 5.99 5.14 4.76 4.53 4.39
0.025 8.81 7.26 6.60 6.23 5.99

7 0.05 5.59 474 4.35 4.12 3.97
0.025 8.07 6.54 5.89 5.52 5.29

8 0.05 5.32 4.46 4.07 3.84 3.69
0.025 7.57 6.06 5.42 5.05 4.82

9 0.05 5.12 4.26 3.86 3.63 3.48
0.025 721 5.71 5.08 4,72 4.48

10 0.05 4.96 4.10 3.71 3.48 3.33
0.025 6.94 5.46 4.83 4.47 424

20 0.05 435 3.49 3.10 2.87 2.71
0.025 5.87 4.46 3.86 3.51 3.29

30 0.05 4.17 3.32 2.92 2.69 2.53
0.025 5.57 4.18 3.59 3.25 3.03

40 0.05 4.08 3.23 2.84 2.61 2.45
0.025 5.42 4.05 3.46 3.13 2.90

50 0.05 4.03 3.18 2.79 2.56 2.40
0.025 5.34 3.97 3.39 3.05 2.83

60 0.05 4.00 3.15 2.76 2.53 2.37
0.025 5.29 3.93 3.34 3.01 2.79

70 0.05 3.98 3.13 2.74 2.50 2.35
0.025 525 3.89 3.31 2.97 2.75

80 0.05 3.96 3.1t 2.72 2.49 2.33
0.025 522 3.86 3.28 2.95 2.73

90 0.05 3.95 3.10 2.71 2.47 2.32
0.025 5.20 3.84 326 2.93 2.71

100 0.05 3.94 3.09 2.70 2.46 2.31
0.025 5.18 3.83 3.25 2.92 2.70

[ 6 H-3 6 H]




